Calcular Porcientos (C)

Calcule el porciento o valor que se pide.

- ¢Qué porciento de 9.132 € es
9.132 €7

- ¢Qué porciento de 5.812 € es
4.359 €7

. ¢Qué porciento de 7.938 € es
3.969 €7

- ¢Qué porciento de 7.427 € es
7.427 €7

. ¢Qué porciento de 8.216 € es
6.162 €7

10.

;Qué porciento de 9.396 € es
7.047 €7

;Qué porciento de 9.640 € es
2.410 €?

;Qué porciento de 6.328 € es
1.582 €?

;Qué porciento de 7.548 € es
7.548 €?

;Qué porciento de 344 € es 86
€7
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Calcular Porcientos (C) Respuestas

Calcule el porciento o valor que se pide.

- ¢Qué porciento de 9.132 € es
9.132 €7
100%

- ¢Qué porciento de 5.812 € es
4.359 €7
75%

. ¢Qué porciento de 7.938 € es
3.969 €?
50%

- ¢Qué porciento de 7.427 € es
7.427 €7
100%

. ¢Qué porciento de 8.216 € es
6.162 €7
75%

10.

;Qué porciento de 9.396 € es
7.047 €7
75%

;Qué porciento de 9.640 € es
2.410 €7
25%

;Qué porciento de 6.328 € es
1.582 €?
25%

;Qué porciento de 7.548 € es
7.548 €?
100%

;Qué porciento de 344 € es 86
€7
25%
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